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Part 1: Foundational Knowledge

What is the defining characteristic of parallel lines?

undefined. a) They intersect at a right angle
undefined. b) They have different slopes
undefined. c) They do not intersect ✓
undefined. d) They form a triangle

Parallel lines do not intersect at any point.

What is the defining characteristic of parallel lines?

undefined. a) They intersect at a right angle
undefined. b) They have different slopes
undefined. c) They do not intersect ✓
undefined. d) They form a triangle

Parallel lines do not intersect and have the same slope.

Which of the following are true about perpendicular lines?

undefined. a) They intersect at a 90-degree angle ✓
undefined. b) Their slopes are equal
undefined. c) The product of their slopes is -1 ✓
undefined. d) They never intersect

Perpendicular lines intersect at a right angle and their slopes multiply to -1.

Which of the following are true about perpendicular lines?
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undefined. a) They intersect at a 90-degree angle ✓
undefined. b) Their slopes are equal
undefined. c) The product of their slopes is -1 ✓
undefined. d) They never intersect

Perpendicular lines intersect at a right angle and their slopes are negative reciprocals.

Explain the difference between parallel and perpendicular lines in terms of their slopes.

Parallel lines have the same slope, while perpendicular lines have slopes that are negative
reciprocals.

Explain the difference between parallel and perpendicular lines in terms of their slopes.

Parallel lines have equal slopes, while perpendicular lines have slopes that are negative reciprocals
of each other.

Provide the slope-intercept form and standard form of a line equation.

1. Slope-intercept form:
y = mx + b

2. Standard form:
Ax + By = C

The slope-intercept form is y = mx + b, and the standard form is Ax + By = C.

Part 2: Understanding Concepts

If two lines have slopes of 3 and -1/3, what is their relationship?

undefined. a) Parallel
undefined. b) Perpendicular ✓
undefined. c) Neither
undefined. d) Cannot be determined

The lines are perpendicular because the product of their slopes is -1.
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If two lines have slopes of 3 and -1/3, what is their relationship?

undefined. a) Parallel
undefined. b) Perpendicular ✓
undefined. c) Neither
undefined. d) Cannot be determined

The lines are perpendicular because the product of their slopes is -1.

Which of the following equations represent parallel lines?

undefined. a) y = 2x + 3 ✓
undefined. b) y = 2x - 4 ✓
undefined. c) y = -1/2x + 5
undefined. d) y = 2x + 1 ✓

Lines with the same slope are parallel.

Which of the following equations represent parallel lines?

undefined. a) y = 2x + 3 ✓
undefined. b) y = 2x - 4 ✓
undefined. c) y = -1/2x + 5
undefined. d) y = 2x + 1 ✓

Parallel lines will have identical slopes in their equations.

Describe how you would graphically determine if two lines are parallel or perpendicular.

To determine if lines are parallel, check if they never intersect; for perpendicular, check if they
intersect at a right angle.

Describe how you would graphically determine if two lines are parallel or perpendicular.

You can determine the relationship by comparing the slopes and observing the angles at which they
intersect.
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Part 3: Applying Knowledge

Given the line equation y = -2x + 5, which of the following lines is parallel to it?

undefined. a) y = 2x + 1
undefined. b) y = -2x - 3 ✓
undefined. c) y = 1/2x + 4
undefined. d) y = 3x - 5

A line parallel to y = -2x + 5 will have the same slope of -2.

Given the line equation y = -2x + 5, which of the following lines is parallel to it?

undefined. a) y = 2x + 1
undefined. b) y = -2x - 3 ✓
undefined. c) y = 1/2x + 4
undefined. d) y = 3x - 5

A line parallel to y = -2x + 5 will have the same slope of -2.

Identify the equations of lines that are perpendicular to y = 1/3x + 2.

undefined. a) y = -3x + 4 ✓
undefined. b) y = 3x - 1
undefined. c) y = -1/3x + 5
undefined. d) y = 1/3x - 2

Lines that are perpendicular will have slopes that multiply to -1.

Identify the equations of lines that are perpendicular to y = 1/3x + 2.

undefined. a) y = -3x + 4 ✓
undefined. b) y = 3x - 1 ✓
undefined. c) y = -1/3x + 5
undefined. d) y = 1/3x - 2

Perpendicular lines will have slopes that multiply to -1.

Write the equation of a line that passes through the point (2, 3) and is parallel to the line y = 4x + 1.
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The new line will have the same slope as y = 4x + 1, which is 4.

Write the equation of a line that passes through the point (2, 3) and is parallel to the line y = 4x + 1.

The new line will have the same slope as the given line and pass through the specified point.

Part 4: Analyzing Relationships

Analyze and explain why the lines y = 2x + 5 and y = -1/2x + 3 are perpendicular.

The slopes of the lines are negative reciprocals of each other, indicating they are perpendicular.

Analyze and explain why the lines y = 2x + 5 and y = -1/2x + 3 are perpendicular.

The slopes of the lines are negative reciprocals, indicating they are perpendicular.

Part 5: Synthesis and Reflection

Which statement best evaluates the relationship between the lines y = 4x + 7 and y = -1/4x + 2?

undefined. a) They are parallel
undefined. b) They are perpendicular ✓
undefined. c) They are coincident
undefined. d) They are neither parallel nor perpendicular

The lines are perpendicular because their slopes are negative reciprocals.

Which statement best evaluates the relationship between the lines y = 4x + 7 and y = -1/4x + 2?

undefined. a) They are parallel
undefined. b) They are perpendicular ✓
undefined. c) They are coincident
undefined. d) They are neither parallel nor perpendicular
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The lines are perpendicular because their slopes are negative reciprocals.

Evaluate the following statements and select those that are true:

undefined. a) Two lines with slopes 0 and undefined are perpendicular ✓
undefined. b) Two vertical lines are parallel ✓
undefined. c) Two horizontal lines are perpendicular
undefined. d) A line with slope 1 is perpendicular to a line with slope -1 ✓

True statements will reflect the properties of parallel and perpendicular lines.

Evaluate the following statements and select those that are true:

undefined. a) Two lines with slopes 0 and undefined are perpendicular ✓
undefined. b) Two vertical lines are parallel ✓
undefined. c) Two horizontal lines are perpendicular
undefined. d) A line with slope 1 is perpendicular to a line with slope -1 ✓

True statements will reflect the properties of parallel and perpendicular lines.

Create a real-world scenario where determining whether two lines are parallel or perpendicular is
crucial. Explain how you would solve it using the concepts learned.

Real-world scenarios often involve determining the relationship between lines in design and
construction.

Create a real-world scenario where determining whether two lines are parallel or perpendicular is
crucial. Explain how you would solve it using the concepts learned.

Real-world scenarios often involve determining the relationship between lines in design and
construction.

Design a pair of lines that are perpendicular and provide their equations. Explain your reasoning.

1. Line 1 equation:
y = 2x + 1

2. Line 2 equation:
y = -1/2x + 3
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Perpendicular lines will have slopes that are negative reciprocals of each other.
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